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SmLULT 10MET 20mLLTF A0mELT | 100mELTF | 500mELTF =

B 85 428 0 60 78 97 117 145 184
#=@-1| ®Ax1.7| 150 753 0 106 137 171 206 255 324
2=D2| meExi4| 120/ 603 0 85 110 137 165 204 259
=3 ®Ex11| 100 501 0 70 92 114 137 170 216
£@-1|Ee50%| 150 980 52 78 101 126 151 188 238
£@-2|EE80%| 120 980 35 52 68 84 102 126 160
£@-3|EE50%| 100 980 23 35 46 57 69 85 108
%=@-1|Eem20%| 150/ 750 60 89 116 144 174 216 274
%32 |Erm20%| 120/ 750 43 64 83 103 124 154 196
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81T 85M 428 0 60 18 97 117 145 184
Z®-1 |150M 150M 153 0 106 137 17 206 255 324
=®-2 (120 (HK=ED 120M 603 0 85 110 137 165 204 259
120M (HKFE2) 150M 153 0 106 137 17 206 255 324
£D®-3 100 (HE1) 100M 501 0 10 92 114 137 170 216
100 (HKFE2) 111H 556 0 18 101 126 152 189 239
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=01 150F 1509 828 1,409 2,919 4,798 8,942 20, 271 132, 590 2K
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120 2 : : : : ' : s
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=£@-3 100 (HKFE1) 100/ 980 23 35 46 57 69 85 108
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=01 i 150F 1,362 1,789 2,899 4, 280 7,326 15, 652 98, 204 %8
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B 1 85m 428 0 60 78 97 17 145 184
%31 150/ 150 750 60 89 116 144 174 216 274
£3-2 |120M (FE | 120M 750 43 64 83 103 124 154 196

120M (FE2) | 150M 750 60 89 116 144 174 216 274
£3-3 [100M (FE! | 100M 750 31 47 61 76 91 13 144
100M (FE2) | 111/ 750 37 56 73 91 110 136 172
100 (E3) | 128F 750 47 1 92 114 138 171 217
100 (%5E4) | 150M 750 60 89 116 144 174 216 274
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B 85 470 800 1,650 2,720 5,070 | 11,510 75,310
i 150F] T 1,152 1,643 2,919 4,507 8,009 | 17,582 | 112,497 oE:
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®@-2 |120M (BED | 120M 720 44 65 85 106 127 158 200
120/ (F%E2) | 150/ 980 52 78 101 126 151 188 238
£@-3 |100M (FED | 100M 450 41 62 81 100 121 150 190
100/ (FE2) | 111/ 620 42 63 82 101 122 152 192
100/ (FE3) | 128/ 800 45 68 89 110 133 165 209
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Y &
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-2 | 120 1
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(+892) Cog) | 29 | 150 | a0 | eamd) | e 557
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-3 | 100 i ! , ' , ' !
=@ A @ED | 100m (+252) (+263) (+300) (+333) (+417) Goan | coim  ERE
i g 1M 912 1,257 2,154 3,271 5,733 | 12,465 | 79,208 (s
(+442) (+457) (+504) (+551) (+663) 099 | c3sm  Cnl
i 128F 1,129 1,504 2,477 3,688 6,359 | 13,661 | 86,055 Z=
(+659) (+704) (+827) (+968) |  (+1,289) |  (+2,151) | (+10,745) <k
i 150F 1,362 1,789 2,899 4,280 7,326 | 15,652 | 98,204 4
(+892) (+989) |  (+1,249) |  (+1,560) |  (+2,256) |  (+4,142) | (+22,894) ‘%
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] 1T 85H 428 0 60 78 97 117 145 184
£6-1 |150H 150 750 60 89 116 144 174 216 274
£®-2 (1201 (KE1) 120 550 49 74 96 120 144 179 227
120 (KE2) 1504 750 60 89 116 144 174 216 274
£6-3 [100M (HK=E1) 100 350 45 67 87 108 131 162 206
100 (KE2) 1111 480 47 70 91 113 136 169 214
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100 (2KE4) 150 750 60 89 116 144 174 216 274
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B 1T 85H 470 800 1,650 2,720 5,070 11,510 75, 310
L A —
ey — 150F 1,152 1,643 2,919 4,507 8,009 | 17,582 | 112,497 LB o
(+682) (+843) (+1, 269) (+1,787) (+2, 939) (+6,072) | (31.18T) E &k
H3E
= 876 1,282 2, 340 3, 654 6, 555 14, 485 93, 105 % )

-2 | 120 1 0 A
-0 M &z 25 (+406) (+482) (+690) (+934) (+1, 485) (+2,975) | (+17,795) [+ op % E
I 150M 1,152 1,643 2,919 4,507 8,009 | 17,582 | 112,497 P01 s
(+682) (+843) (+1, 260) (+1,787) (+2, 939) (+6,072) | (+37,18) [\ & &
HOFE::
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-3 | 100 1 ' ' ' ' ' #
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o e || 784 1,168 2,167 3,409 6,149 | 13,640 | 87,908 L5
(+314) (+368) (+517) (+689) (+1,079) (+2,130) |  (+12,598) % Ic
o wam || s 955 1,383 2,494 3,875 6,923 | 15,255 | 97,862 f','ifjg
(+485) (+583) (+844) (+1, 155) (+1, 853) (+3,745) |  (+22,552) 82t
o e || s 1,152 1,643 2,919 4,507 8,009 | 17,582 | 112,497 T
(+682) (+843) (+1, 269) (+1,787) (+2, 939) (+6,072) | (+37,187) o=
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